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0 4.10. X0OOODOOOOOODOOOODODOOODODODOOX =AYy =P
goo
foX =Y, (2y)=(v:y)

000000000X-{(0,0}000000000000000000
000000000000000000000000(0,0)000000
0 (zn,y,) 000000000 0000000000000 f(2n,ya) =
(z.:y,) 0000000000000000000O0O000000O0
000000000000

0 4.11. 00000000 C: f(z,y) =y*—2*=000000000
O000Y?Z-X3=00000000

h:AY(C)— O, t— (3%
00000000000 000D00000

g:C—ANC), (z,y)—y/e
D000D0000000000AD gO

ANC) - {(0,0)} = C —{(0,0)}

goobbbobobbboddooooobbbbuoodooooooo
gboobooggn

gbudbtbgbuodbooobooboobbooboonooboon
goooogo

23



CO00yw=2*0000¢*00002*000000000000C
goboboooobbobuoodbyoobbbooonoboo

9(x,y) = alz,y)/b(r,y)

0000000000000 y0000000000 (y+a(2))(y—az))
00000000200000000000000
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